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Writing the Recursive Form From 
Sequences and Pictures

Find the next two numbers in the pattern:

9, 7, 5, 3, _____, _____
Describe the pattern:

Turn the pattern into a chart:
x y

We did describe patterns by...

Now we are going to describe patterns by...

Describe these patterns using "next­now" statements.

­2, 3, 8, 13 ________________

1, ­1, 1, ­1  ________________

20, 15, 10, 5 ________________

3, 6, 9, 12 ________________

Identifying an arithmetic sequence

­5, ­8, ­11, ­14, _____, ______ next = _________

4, ­8, 16, ­32, _____, ______ next = _________

6, 11, 16, 21, _____, ______ next = _________

1, 3, 9, 27, _____, ______ next = _________

How are patterns 1 and 3 alike?

Sequences that fit this type of pattern are called 
arithmetic.  In an arithmetic sequence the difference 
between a term and the term before it is always the 
same.  This is called the common difference.

Patterns 2 and 4 are not arithmetic because the same 
number is not being added to move along the 
sequence.

Determine if the sequences listed are arithmetic.  If 
they are, find the common difference.

1)  3, 6, 10 15, 21

2)  11, 9, 7, 5, 3

3)  1, 3/2, 2, 5/2, 3

4)  3, 6, 12, 24, 48
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